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%Y T 5 S [~ L A
RE LT RE (B 2 %
B % % @ |4\
z 0O
2 fp EL R= (1 —EBFEA) (HAT : [{)
g AER| AR BR[| SHERE | &l | BEBiE |ACBEAl HEEBEAR
M fEne ) | B | BUEMmE (AR (B) 5| (D) Bl OME ) 1B A A T
(A) (A) XR (C)1B)+ (C) (E) [ W-0) X (E) (6) () X (@) X FIF%
T -Ab-p 44 g w-hasoo] 1 55,000,000 | 100 | 55,000,000 | 49,500,000 | 19 | 2,605, 263 10 | 28,947,370 50 | 578,947
VAN -4 per b (3000 1 17,100,000 | 100 | 17,100,000 | 15,390,000 | 19 810, 000 10 | 9,000,000 50 | 180,000
RS g b 000 | 15,000,000 | 100 | 15,000,000 | 13,500,000 | 19 710,526 10 | 7,894, 740 50 | 157,895
RN g, v-bsom] 1 4,250,000 | 100 | 4,250,000 | 3,825,000 | 19 201, 316 10| 2,236,840 50 44,737
log=N:3 g u-b(aoon] 1 12,000,000 | 100 | 12,000,000 | 10,800,000 | 19 568, 421 10| 6,315,790 50 | 126,316
EHE S, Av-) | 8,000,000 | 100 [ 8,000,000 [ 7,200,000 [ 19 378,947 10 [ 4,210,530 50 84,211
HEE 2 (A b v 7 o ks, av-) | 8,000,000 | 100 | 8,000,000 | 7,200,000 | 17 423,529 9| 4,188,239 50 83, 765
EPEAHEEAEER {6700, 90cn | 21,000,000 | 100 [ 21,000,000 | 18,900,000 | 15 | 1,260, 000 8 | 10,920,000 50 | 218,400
N V- n )b g |1 8,000,000 | 100 | 8,000,000 | 7,200,000 | 17 493,529 9| 4,188,239 50 83, 765
I YA Sl > S =Y ] 3,000,000 | 100 | 3,000,000 | 2,700,000 | 14 192, 857 71 1,650,001 50 33, 000
5K L HE i 2% —7\ | 4,500,000 | 100 | 4,500,000 | 4,050,000 | 10 405, 000 5 2,475,000 100 99, 000
K7V 0, 4KW 1.0 1,920,000 | 100 1,920,000 | 1,728,000 | 7 246, 857 4 932, 572 50 18, 651
N AR =1 1.0 15,000,000 | 100 | 15,000,000 | 13,500,000 | 7 | 1,928,571 41 7,285,716 50 | 145,714
N W)=7- 4,5t 1.0 7,500,000 | 100 | 7,500,000 [ 6,750,000 | 7 964, 286 41 3,642,856 50 79, 857
5 (7-Higk 8, 000kcal | 1.0 920,000 | 100 920, 000 828,000 | 7 118, 286 4 446, 856 50 8, 937
b= 80PS.4WD | 1.0 6,431,000 | 100 | 6,431,000 | 5,787,900 | 7 826, 843 41 3,123,628 50 62, 473
) (57 4ERF)  [8soPS.4WD [ 0.2 957,240 | 100 257, 240 231,516 | 7 33,074 4 124, 944 50 2,499
ERVIEE 12m 1.0 8,500,000 | 100 | 8,500,000 | 7,650,000 | 7| 1,092,857 41 4,128,572 50 82,571
7317} 2t 1.0 2,500,000 | 100 | 2,500,000 | 2,250,000 | 4 562, 500 2 | 1,375,000 50 27,500
22T A7 Vyd (534t 0.2 79,400 | 100 79, 400 71,460 | 7 10, 209 4 38, 564 50 71
In =7 7" 70 (57 044 x 33 [ 0. 2 52,200 | 100 52, 200 46,980 [ 7 6,711 4 25, 356 50 507
7 o=} %ad- (57 3E[[800kge 0.2 18,880 | 100 18, 880 16,992 | 7 2,427 4 9,172 50 183
p-f)- (57 3k [)  1240cm 0.2 53,600 | 100 53, 600 48,240 | 7 6,891 4 26, 036 50 521
1-/7" 7/5- (5 5 k)45 0.2 31,920 | 100 31,920 28,728 | 7 4,104 4 15, 504 50 310
KAln—-7- (57 L[q)  [250cm 0.2 43,200 | 100 43, 200 38,880 | 7 5, 554 4 20, 984 50 420
7 =bA7 VAY= (57 3E[[1100L 0.2 75,200 | 100 75, 200 67,680 | 7 9, 669 4 36, 524 50 731
13-/~ 20- (5 A R[] 256 0.2 159,200 | 100 159, 200 143,280 | 7 20, 469 4 77,324 50 1,547
¥ 7 02y (5L 4 0.2 59,600 | 100 59, 600 53,640 | 7 7,663 4 28, 948 50 579
¥y 4t 1.0 5,500,000 | 100 | 5,500,000 | 4,950,000 | 4 | 1,237,500 2 | 3,025,000 50 60, 500
TN 49PS 1.0 3,800,000 | 100 | 3,800,000 | 3,420,000 | 7 488, 571 41 1,845,716 50 36,914
70y b=} - (5 5 2E[q)) 0.2 32,000 | 100 32, 000 28,800 | 7 4,114 4 15, 544 50 311
BT u7- Okw | 950,000 | 100 250, 000 995,000 [ 7 392, 143 4 121, 428 50 2,429
RYEM — | 200,000 | 100 200, 000 180,000 | 4 45, 000 2 110, 000 50 2,200
Br7v7 660cc, 4WD| 1 & [ 1,050,000 [ 100 1, 050, 000 945,000 | 4 236, 250 2 577, 500 100 23,100
A4 120 57,012,000 | 100 | 57,012,000 | 45,609,600 | 4 [11,402, 400 2 | 34,207,200 100 | 1, 368, 288
Y - Ry 155, 850, 000 155,850, 000 | 140, 265, 000 7,979, 388 82, 026, 749 1,690, 035
PR - s H gl 54, 433, 440 54,433,440 | 48,990, 096 7,890, 549 927,033, 744 552, 225
i) - Bt 57,012, 000 57,012,000 | 45,609, 600 11, 402, 400 34, 207, 200 1, 368, 288
it 267, 295, 440 267,295,440 | 234, 864, 696 27,272, 337 143, 267, 693 3,610, 548
3 I f5 B
BE| H = F2E T C2
A PE L D IR E 630 kg
ZHHAL H BA A H s 14~15 » A
fir] A B AR AR 127 cm (RVASA 38 BREVEME 122, 6~130. 4cm)
ZhE {1 FH B 4R AR E 344~368 kg (RVAIA Y/ FE EFEAEAE 342, T~407. 5cm)
#* |WIPEA #n 24 » H
AL A %% 48 » H
=gl RS B g 1 13 » H
MNERgERL H K 11 » H
B e 9, 760 kg (FEFLA T8 32.0 kg H)
FLAE =R 3.85 %
R E T 40 R 8.8 %
[REPEA] 12088 (Js) LH1BEYS -0 (JE)
OGN S 10, 220 kg/4F 28.0 kg
fid] = JL=RCip S 4, 745 kg/4F 13.0 kg
(B Rk - 1741 728H
- 137 AVE
PSS Gl S8 5,716 kg/4 15. 7 kg
I AR 993 kg/4F 2.7 kg
s T H~127H
o fin Bk 720 kg/185 H 2.0 kg
=N Gy 3 463 kg/185H 1.3 kg
£ - 6 7 H R
HH finl B 225 kg/180H 0.6 kg
T JE A 267 kg/180 H 0.7 kg
¥ W b 53. 0% Ui A AL < EPEM S
e | DY TER Y 6, 000 kg/10a |5 L=
ﬁ;ﬁ 4BV T AT R kg/10a
= | B 50.4 h/10a




4 Hiafap

& H % 7R i =
fEH&E (L) fgha BT (F9)
B |2 274, A85|[5RELH Ty - 2.5 X 20.0 X 3,009 = 150, 450
VAR BRI 2.0 X 20.0 X 3,432 = 137, 280
T R— 1.5 X 20.0 X 15,599 = 467, 964
XY T Z 1.5 X 20.0 X 4,996 = 149, 877
77 57— R 1.5 X 20.0 X 12, 055 = 361, 649
VAN A A 5.0 X 20.0 X 10, 073 = 1, 007, 265
=) 2,274, 485
) = — LR A i fgha HATh (F9)
EA R 360, 000
20.0 X 18, 000 = 360, 000
= 360, 000
BT i FH Ekg [ff5ha B ELAL () 4%8
SENE 474, 929 153.5 X  20.0 X 119.0 = 365, 330
F A K 109, 599 [ 365, 330
ik FH Ekg [ fgha Tl HAL () 4%A
fEEZE |1, 301, 184 30 X  20.0 X 2,169 = 1,301, 184
NATEM - fiiffke  mifsha B (F) - <%H
Akl Er |3, 278, 880 JoAE e LAk 1,200 X  20.0 X 112.3 = 2, 695, 680
=K 1,200 X 20.0 X 24.3 = 583, 200
= 3, 278, 880
= 7,689, 478
5 BRERIOAER S
(1)  {EWRIAPE & LR RER i 5=
TEft 10a Y V| BAEER rﬁ’ﬁTD #MoH | R OB R RE NS &K WBTDN| By
s L A /L . Yirin
WA | ERA || B (ERRE) |4 E &\ FE B R BF) [ 5 &| TN
(ha) | (Ke) (Kg) (Kg) |[FIAHZEO) | FXY [ - A B (%)
Yl - F2|pyEnay 20.0f 6,000] 1,200,000{ 218,400 80 960, 000 960, 0001 174,720 18.2
- =
2t 20.0 1, 200, 000] 218, 400 960, 000 0] 960, 000 174,720
(2) AR H#EEHG 5 _
Wwh |kh5&E |1H18EY
VEW) 44 wHwHIEHE 1 2 3 4 5 6 7 8 9l 10| 11| 12 (TDN) |~ v #a5
H 2K TDN kg
ryEmRaY (A L— 365|174, 720 3. 99
=T 174, 720
6 HEOIEER. AR
H - A 1H 2 A 3 H 4 A 5H 6 H
(=2 E 1 T k 1 T E 1 T k th T k 1 T E i1 T
fir A i B 240.0 [240.0 [264.0 |1240.0 [240.0 ]192.0 |240.0 [240.0 [264.0 |240.0 [240.0 |240.0 |1240.0 [240.0 |264.0 |240.0 |[240.0 |240.0
Bk kR 10.0 | 10.0 | 10.0 | 10.0 | 10.0 | 10.0 | 10.0 | 24.0 | 24.0 | 40.0 | 60.0 |100.0 |120.0 |120.0 |100.0 | 40.0 | 40.0 | 20.0
3t 250.0 [250.0 [274.0 ]250.0 |1250.0 [202.0 [250.0 |264.0 |288.0 [280.0 [300.0 |340.0 1360.0 [360.0 [364.0 |280.0 |280.0 [260.0
7A 8 H 9 A 104 11H 12H
s s T i s T i s T i i i i iy T i i T &t
240.0 |240.0 |264.0 |240.0 |240.0 |264.0 |240.0 [240.0 |240.0 |240.0 [240.0 [264.0 [240.0 [240.0 [240.0 [240.0 |240.0 |264.0 8,760. 0
20.0 | 10.0 | 40.0 {100.0 |100.0 |100.0 | 40.0 | 40.0 | 20.0 | 10.0 | 10.0 | 10.0 | 10.0 | 10.0 | 10.0 | 10.0 | 10.0 | 10.0 1,318.0
260.0 |250.0 |304.0 |340.0 |340.0 |364.0 |280.0 [280.0 [260.0 |250.0 [250.0 [274.0 [250.0 [250.0 [250.0 [250.0 [250.0 [274.0 10, 078. 0




7 B RCEH OB
) w4 WA | R () ﬁﬁmjiﬁifﬁﬂﬁ S (1)
HEEBEE PE I LAAS 100, 000
1R HHEL 467. 6 35 24.5 11, 457
N T ¥ 85. 3 173 242. 8 20, 716
B A ETH 85. 3 185 462. 5 39, 461
b 5 B % H 82. 1 365 993. 2 81, 522
7, B4 69. 1 723 3,211.0 221,944
N 2 375, 100
= 475, 100
8 RERA
X5 £ H [N g W
FEMMEER) 128, 832, 000 AEED: 1,171,200 kg HMQ : 110.0 [H/kg
I | EED e 0 KEE Hi
TEmAE NEE HM
Rl 6, 869, 231 B0 7988, B A48
i 135,701, 231
i B 1,301, 184 [HiafEIERD EHY
faftiT R 996, 923
LEEE 0
T 3,278,880 [HifEED LY
ERERM (B X B 2,274, 485 Il
DREEE 1, 362, 000
il kB 68, 245, 481 [MfEIE 26,821, 3681 JEEAEIE 41,424 1131
i kB 1,800, 000
s ) ) AVE 2,214,929
B B 7 2,202, 338 [HEM ELRIMARX 4 %
EYMEERER 1,558,500 [ - A ARMAX 1%
TR B 4 960, 000
it 4 1,658, 400
ARG 856, 800
7E B EAE 27,272,337 [BIFED LBV
Ttk B E 1,000, 000
SR E) 0
IF (B) 116, 982, 256
%%E—%ﬁn M 0
EHE 7 i & 0
% A 4,216,708 [EHME, T BB EN
ER IS 390, 600 | EE AR iR, Eanéﬁ
SHHIE®D 1,060, 080 [ ABAHT-3 2 %
Nt (0) 5, 667, 388
% " B (D) 129, 649, 644 ) () = () + (0)
ZIELEE AR © 13,166,400 |2 7€ % @ W f . 10, 0T8I “EFER By B SORRE 1,300 F /K5
AT - R AEPER (F) | 128,946, 813 [FREM LG T- V) i (E) = () +8-@
HOBEA [[REEAFIT0) 2,012, 288 ) 0= (E)—6—0) /2 X0.04
T |HEGAR T 3,610, 548 [F4-E 4%
H/E MR G 1,616, 000
EENEER (H) 136, 185, 649 | A FEMELI S 72 1) 116H /kg ) ) = () + (F) + (6)
il f3 (1) 13,051,587 [HEfIY 70 1,289 ) (1) = (A) - D)
FJT B % (J) 10 ) () = (1) + (h) X100
E R (K) -7, 353, 649 ) (K) =Q- (H)
%%ﬁ@ﬁ%H (L) 5,812, 751 |47 574 1 ) 1) = 1) - (F) - (0
EEE AR (M) -114, 813 F) ) = (1) -®




